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SOolution
Rajeey Mobhan
S BEabu
WISy Suresh

Hence, Babu 1s sitting 1o the left of Mohan.
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Example 2:
Eleven students A, B, C, D, E, F, G, H, I, ] and K are sitting in first line facing to the

teacher.
D who is just to the left of F is to the right of C at second place.

A is second to the right of E who is at one end.

] is the nearest neighbor of A and B and is to the left of G at third place.
H is next to D to the left and is at the third place to the right of .

Who is just in the middle ?

Solution :

Teacher

Hence, | 15 just in the middle.
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solution :

Teacher
ik
ik ik L il ik il il ik il ik il
E k- fa 1 B I e _ H [ F

Hence, | 1S just in the middle.
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Example 3:

Siva, Sathish, Amar and Praveen are playing cards. Amar is to the right of
Sathish, who is to the right of Siva.

Who is to the right of Amar ?

Solution :

Sathish

Srmar Slwa

Fraveen

Hence Fraveen 15 to the right of Amar.
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Solution :
Sathish
Srar Siwv g
Fraveegenrn

Hence Fraveen 15 1o the rnght of Amar.
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Example 4-:

A, B and C are three boys while R, S and T are three girls.
They are sitting such that the boys are facing the girls.

A and R are diagonally opposite to each other.

C is not sitting at any of the ends.

T is left to R but opposite to C.

(A). Who is sitting opposite to B ?

(B). Who is sitting diagonally opposite to B ?
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Solution :

_y oy _ =

I =Tt position —_ - —
_-—'___ il ___-__

= T .

o = T =

IT nd position —_ - —
_-'___ i ___—__

E - 2,

(A, Hence, R is sitting opposiie 1o B

(B). Hence. S is sitting diagonally opposite to B.
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PQ R, S, T U Vand W are sitting round the circle and are facing the
centre is second to the right of T who is the neighbor of R and V.

S is not the neighbor of P.

V is the neighbor of U.

Q is not between S and W. W is not between U and S.

oo WY

~»

rrorions

Explanation:
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ExXplanation:

2
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2.Which one is immediate right to the V ?

Explanation:

T 1 immediate nght to the W
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Which of the following is correct ?

P is to the immediate right of Q
R is between U and V
Q is to the immediate left of W
. /U is between W and S

ARIERE

Xxplanation:
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1.A, P R, X, S and Z are sitting in a row. S and Z are in the
centre. A and P are at the ends. R is sitting to the left of A.
Who is to the right of P ?

Xxplanaton:

The seating arrangement is as follows:

H i = £ . o,

Theretore, right of P Is X.

TOPIC 1-ANALYTICAL REASONING- LINEAR AND CIRCULAR ARRANGEMENT /VQAR/RAMYA E/ECE/SNSCT 14/24



LINEAR AND CIRCULAR
ARRANGEMENT

LISTITUTIONS

Explanation:

The sealtling amangement 15 as Tollows:

= ., = £ . La]

Theretore, right of P 1s X
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2. A, B, C, D and E are sitting on a bench. A is sitting next to B, C
is sitting next to D, D is not sitting with E who is on the left end
of the bench. C is on the second position from the right. A is to
the right of B and E. A and C are sitting together. In which
position A is sitting ?

Explanation:

LLTTITITION S

E B, o, - [

Theretore, A ls siiting In between B and C.
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EXplanation:

E B, ] » [

Theretore, Als siiung in between B and C.
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